	OON is an acronym for ------------

		
	A.
	Officer of the Order of the Niger  
	

	
	B.
	Officer of the order of Nigeria  
	

	
	C.
	Organisation of Opticians in Nigeria 
	

	
	D.
	Official Organisation of Nurses 
	

	
	E.
	none of the above 
	




	 of 100
	If the price of an electronics is N11,000, to which must be added VAT of 7.5%. What is the selling price?

		
	A.
	N3,300  
	

	
	B.
	N825  
	

	
	C.
	N25,000 
	

	
	D.
	N20,000 
	

	
	E.
	N22,000 
	




	During the recent Tijays cipher convention, a binary code contest took place. The contest consisted of a binary code transmission where the spaces between the letters were missing and there was no punctuation. Each letter of the alphabet was translated into its binary equivalent based on its position in the alphabet, a=1, b=10, c=11, d=100, e=101, f=110, g=111, h=1000, i=1001, j=1010, k=1011, l=1100, m=1101, n=1110, o=1111, p=10000, q=10001, r=10010, s=10011, t=10100, u=10101, v=10110, w=10111, x=11000, y=11001, z=11010. Which country does the code 110100101111011101 represent?

		
	A.
	Finland  
	

	
	B.
	France  
	

	
	C.
	Florida 
	

	
	D.
	Fox Islands 
	

	
	E.
	None of the above 
	




	The richest gold mines in the world is in ---------------

		
	A.
	Gambia  
	

	
	B.
	Nigeria  
	

	
	C.
	South Africa 
	

	
	D.
	Zaire 
	

	
	E.
	Brazil 
	

	The correct answer is option [C
	




	The increase of States in Nigeria from 19 to 21 was done by ------------------

		
	A.
	Gen. Gowon  
	

	
	B.
	Gen. Sanni Abacha  
	

	
	C.
	Murtala Muhammed 
	

	
	D.
	Gen Abubakar 
	

	
	E.
	none of the above 
	

	The correct answer is option [E] It was done by Gen. Ibrahim Babangida
Current Affairs
	




	Which is the odd one out?

		
	A.
	Carbon  
	

	
	B.
	Aluminium  
	

	
	C.
	Copper 
	

	
	D.
	Iron 
	

	
	E.
	Zinc 
	

	The correct answer is option [A] Carbon is the odd one out because it is not a metal. Aluminum, copper, Zinc and iron are metals.
Verbal Reasoning
	




	Onitsha in Anambra State came into being because of the presence of ---------------

		
	A.
	River Benue  
	

	
	B.
	River Ogun  
	

	
	C.
	Nile River 
	

	
	D.
	River Niger 
	

	
	E.
	Volta River 
	

	The correct answer is option [D]
	




	------------ invented X-rays

		
	A.
	Wilhelm .K. Routgen  
	

	
	B.
	Sir James Parsons  
	

	
	C.
	Michael Faraday 
	

	
	D.
	John Fitch 
	

	
	E.
	none of the above 
	

	The correct answer is option [A]
	




	day, _______ , month, year

		
	A.
	century  
	

	
	B.
	decade  
	

	
	C.
	hour 
	

	
	D.
	fortnight 
	

	
	E.
	minute 
	

	The correct answer is option [D] Here time periods are arranged according to duration from short periods to long ones. A fortnight is fifteen days and therefore it naturally comes between day and month. Decade (10 years) and century (100 years) are too long whereas hour is too short
Verbal Reasoning
	




	Joan and Jane are sisters. Jean is Joan's daughter and 12 years younger than her aunt. Joan is twice as old as Jean. Four years ago, Joan was the same age as Jane is now, and Jane was twice as old as her niece. How old is Jean?

		
	A.
	32  
	

	
	B.
	28  
	

	
	C.
	22 
	

	
	D.
	16 
	

	
	E.
	14 
	

	The correct answer is option [D] Joan is 32, Jane is 28, and Jean is 16
Quantitative Reasoning
	




	Light travels at ---------- Miles per seconds

		
	A.
	183,600 Miles  
	

	
	B.
	186,000 Miles  
	

	
	C.
	186,300 Miles 
	

	
	D.
	168,3000 Miles 
	

	
	E.
	none of the above 
	

	The correct answer is option [C]
	




	The office staff of XYZ corporation presently consists of three bookeepers--A, B, C and 5 secretaries D, E, F, G, H. The management is planning to open a new office in another city using 2 bookeepers and 3 secretaries of the present staff . To do so they plan to separate certain individuals who don't function well together. The following guidelines were established to set up the new office I. Bookeepers A and C are constantly finding fault with one another and should not be sent together to the new office as a team II. C and E function well alone but not as a team , they should be separated III. D and G have not been on speaking terms and shouldn't go together IV Since D and F have been competing for promotion they shouldn't be a team If A is to be moved as one of the bookeepers,which of the following cannot be a possible working unit.

		
	A.
	ABDEH  
	

	
	B.
	ABDGH  
	

	
	C.
	ABEFH 
	

	
	D.
	ABEGH 
	

	
	E.
	None of the above 
	

	The correct answer is option [B]
	




	Last weekend, I went to play in the nearby park. It was real fun! I rode my new bicycle that Mom bought for me on my birthday. On reaching the park, I saw that there were a total of 10 bicycles and tricycles. If the total number of wheels was 25 , how many tricycles were there?

		
	A.
	9  
	

	
	B.
	7  
	

	
	C.
	5 
	

	
	D.
	4 
	

	
	E.
	3 
	

	The correct answer is option [C] Solution: Assuming 2 wheels for each cycle, 10 cycles will have 20 wheels. But, there are 25 - 20 = 5 extra wheels. As bicycles have 2 wheels and tricycles have 3 wheels, there is 1 extra wheel per tricycle in the park. Thus, the 5 extra wheels belong to 5 tricycles. 
Logical Reasoning
	




	Three pipes, A, B, & C are attached to a tank. A & B can fill it in 20 & 30 minutes respectively while C can empty it in 15 minutes. If A, B & C are kept open successively for 1 minute each, how soon will the tank be filled?

		
	A.
	163 minutes.  
	

	
	B.
	164 minutes  
	

	
	C.
	165 minutes. 
	

	
	D.
	166 minutes. 
	

	
	E.
	167 minutes. 
	

	The correct answer is option [E]
	




	2 hours after a freight train leaves Delhi a passenger train leaves the same station traveling in the same direction at an average speed of 16 km/hr. After traveling 4 hrs the passenger train overtakes the freight train. The average speed of the freight train was?

		
	A.
	30  
	

	
	B.
	40  
	

	
	C.
	58 
	

	
	D.
	60 
	

	
	E.
	72 
	





The correct answer is option [B]
	A soft black opaque carbonaceous rock that can be used to make pencils is -----------------

		
	A.
	Lignite  
	

	
	B.
	Graphite  
	

	
	C.
	Lead 
	

	
	D.
	Coal 
	

	
	E.
	None of the above 
	

	The correct answer is [B]
	




	The fastest female athlete in Africa in the Nineties is ----------------

		
	A.
	Modele Sharafat - Yusuf  
	

	
	B.
	Mary Onyeali  
	

	
	C.
	Fatima Yusuf 
	

	
	D.
	Tina Ihegwam 
	

	
	E.
	Charity Utondu 
	

	The correct answer is option [B]
	




	Last week, I travelled from London to Stoke. On the first day I travelled one half of the distance. On day two, I travelled one third of the remaining distance. On day three, I travelled three quarters of the remaining distance. Yesterday I travelled one half of the remaining distance. I now have 5 miles left to travel. How far is it from Stoke to London in total?

		
	A.
	120 miles  
	

	
	B.
	60 miles  
	

	
	C.
	40 miles 
	

	
	D.
	20 miles 
	

	
	E.
	5 miles 
	

	The correct answer is option [A] 120 miles. On the first day I travelled 60 miles, leaving 60 miles. On day two I travelled 20 miles, leaving 40 miles On day three I travelled 30 miles, leaving 10 miles. Yesterday I travelled 5 miles, leaving 5 miles. 
	






	James said that he was born on February 29, 1900. What birthday will he celebrate in the year 2000?

		
	A.
	100  
	

	
	B.
	1,000  
	

	
	C.
	101 
	

	
	D.
	1,0001 
	

	
	E.
	None of the above 
	

	The correct answer is option [E] 1900 was not a leap year
	




	The Nigerian civil war lasted for --------------

		
	A.
	2 years 3 months  
	

	
	B.
	2 years and 4 month  
	

	
	C.
	2 years and 5 months 
	

	
	D.
	2 years and 6 months 
	

	
	E.
	None of the above 
	

	The correct answer is option [D] The civil war started on the 6th of July 1967 and ended 12th of Jan. 1970
	




	wo other English word.

		
	A.
	CLOSE  
	

	
	B.
	BANK  
	

	
	C.
	GATE 
	

	
	D.
	PLAY 
	

	
	E.
	DOWN 
	

	The correct answer is option [C] UBE 6
	




	Complete the sequence in the series: 1, 2, 6, 24, 120, ____

		
	A.
	720  
	

	
	B.
	620  
	

	
	C.
	520 
	

	
	D.
	420 
	

	
	E.
	320 
	

	The correct answer is option [A] 1 = 1; (1)(2) = 2; (1)(2)(3) = 6; (1)(2)(3)(4) = 24; (1)(2)(3)(4)(5) = 120; (1)(2)(3)(4)(5)(6) = 720; The nth term in the sequence is given by n! (factorial of n), which is defined as the product of all integers from 1 to n.
	




	2 Tyres of a car were replaced at the cost of 17 naira per tyre. If 40 naira had been expected to be paid for the 2 tyres, what percent of the expected cost was saved?

		
	A.
	75.0  
	

	
	B.
	57.5  
	

	
	C.
	17.6 
	

	
	D.
	7.5 
	

	
	E.
	none of the above 
	

	The correct answer is option [E]
	




	The former name of Ghana is -----------------

		
	A.
	Accra  
	

	
	B.
	Lome  
	

	
	C.
	Ankra 
	

	
	D.
	Kampala 
	

	
	E.
	Gold Coast 
	

	The correct answer is [E]
	




	The coldest planet is -------------

		
	A.
	Mercury  
	

	
	B.
	Earth  
	

	
	C.
	Jupiter 
	

	
	D.
	Uranus 
	

	
	E.
	Pluto 
	

	The correct answer is option [E]
	




	Bush burning affects the atmosphere directly by

		
	A.
	Killing soil microbes  
	

	
	B.
	Adding to Carbon(IV) accumulation  
	

	
	C.
	Leaving the land surface bare 
	

	
	D.
	Adding ashes to the soil 
	

	
	E.
	None of the above 
	

	The correct answer is [B]
	




	A tennis championship is played on a knock-out basis, i.e., a player is out of the tournament when he loses a match. How many players participated in the tournament if a total of 15 matches are played?

		
	A.
	20  
	

	
	B.
	16  
	

	
	C.
	12 
	

	
	D.
	8 
	

	
	E.
	6 
	

	The correct answer is option [B]
	




	Of 12 children on a tennis coaching course, 7 are boys and 4 are left handed out of which are 3 boys. What is the probability that a child randomly selected is a left handed girl?

		
	A.
	4/12  
	

	
	B.
	1/4  
	

	
	C.
	3/4 
	

	
	D.
	7/12 
	

	
	E.
	5/6 
	

	The correct answer is option [B]
	




	triangle, rectangle, pentagon, _______

		
	A.
	heptagon  
	

	
	B.
	octagon  
	

	
	C.
	decagon 
	

	
	D.
	hexagon 
	

	
	E.
	square 
	

	The correct answer is option [D] Here polygons are arranged according to the number of sides. A triangle has 3 sides, a square / rectangle has 4 sides, a pentagon has 5 sides, a hexagon has 6 sides, a heptagon has 7 sides, and an octagon has 8 sides.
	




	A pillar 8 feet tall casts a shadow 4 feet long on the ground. If the pillar was 12 feet tall, how many feet in length would the shadow be ?

		
	A.
	12 feet.  
	

	
	B.
	8 feet.  
	

	
	C.
	6 feet. 
	

	
	D.
	4 feet. 
	

	
	E.
	2 feet. 
	

	The correct answer is option [C] Solution: The lengths of the shadows are to one another as the heights of the pillars. Thus, Length of the shadow for a pillar 12 feet tall = (12 / 8) x 4 = 6 feet.
	




	The sun rises every morning in the ------------

		
	A.
	East  
	

	
	B.
	West  
	

	
	C.
	South 
	

	
	D.
	North 
	

	
	E.
	none of the above 
	

	The correct answer is option [A]
	




	The first University in Nigeria is -----------

		
	A.
	Obafemi Awolowo University (OAU)  
	

	
	B.
	University of Ibadan (UI)  
	

	
	C.
	University of Nigeria (UNN) 
	

	
	D.
	University of Lagos 
	

	
	E.
	Amadu Bello University of Zaria (ABU) 
	

	The correct answer is option [B]
	




	At a recent Pets Anonymous reunion, the attendees were discussing which pets they had recently owned. Ike used to have a dog. The person who used to own a mouse now owns a cat, but the person who used to have a cat does not have a mouse. Tammy has now or used to have a dog, I can't remember which. Florence has never owned a mouse. Only one person now owns the pet they previously had. Betsy said very little throughout the meeting and nobody mentioned the hamster. What is Ike's current pet?

		
	A.
	Hamster  
	

	
	B.
	Dog  
	

	
	C.
	Mouse 
	

	
	D.
	Cat 
	

	
	E.
	None of the above 
	

	The correct answer is option [C]
	




	n Cinfores International High school, the science department has three disciplines. In total, 280 students study chemistry, 254 students study physics and 280 students study biology. 97 students study both chemistry and physics, 138 students study both physics and biology, 152 students study both chemistry and biology. 73 students study all three disciplines. How many students are there in the science department?

		
	A.
	73  
	

	
	B.
	387  
	

	
	C.
	460 
	

	
	D.
	500 
	

	
	E.
	814 
	

	The correct answer is option [D]
	




	During the recent Sylbil cipher convention, a binary code contest took place. The contest consisted of a binary code transmission where the spaces between the letters were missing and there was no punctuation. Each letter of the alphabet was translated into its binary equivalent based on its position in the alphabet, a=1, b=10, c=11, d=100, e=101, f=110, g=111, h=1000, i=1001, j=1010, k=1011, l=1100, m=1101, n=1110, o=1111, p=10000, q=10001, r=10010, s=10011, t=10100, u=10101, v=10110, w=10111, x=11000, y=11001, z=11010. Which country does the code 11010111011010011 represent?

		
	A.
	Zambia  
	

	
	B.
	Zimbabwe  
	

	
	C.
	Zion 
	

	
	D.
	Zaire 
	

	
	E.
	None of the above 
	

	The correct answer is option [A]
	




	The way of doing things is called ----------------

		
	A.
	technology  
	

	
	B.
	tactics  
	

	
	C.
	science 
	

	
	D.
	art 
	

	
	E.
	design 
	

	The correct answer is option [B]
	




	That attorney is my brother, testified the accountant. But the attorney testified he didn't have a brother. Who is lying?

		
	A.
	The Attorney  
	

	
	B.
	The Accountant  
	

	
	C.
	The two of them 
	

	
	D.
	Neither of them 
	

	
	E.
	None of the above 
	

	The correct answer is option [D] Neither of them, the Accountant is his sister.
	




	If the perimeter of square 1 and the diagonal of square 11 have the same length, what is the ratio of square 1 to the area of square 11?

		
	A.
	12:5  
	

	
	B.
	5:12  
	

	
	C.
	1:8 
	

	
	D.
	3:4 
	

	
	E.
	2:1  
	

	The correct answer is option [C]
	




	Haretown and Tortoiseville are 52 miles apart. A hare travels at 10 miles per hour from Haretown to Tortoiseville, while a tortoise travels at 3 miles per hour from Tortoiseville to Haretown. If both set out at the same time, how many miles will the hare have to travel before meeting the tortoise en route?

		
	A.
	26 miles  
	

	
	B.
	30 miles  
	

	
	C.
	39 miles 
	

	
	D.
	40 miles 
	

	
	E.
	None of the above 
	

	The correct answer is option [D] Solution: The hare and the tortoise are together covering the distance at 13 miles per hour (i.e., on adding their speeds). So, they will cover the distance of 52 miles in 4 hours. Thus, in 4 hours, they will meet and the hare will have traveled 40 miles. Alternative Solution through Equations: Note that : Distance = Speed x Time Let t be the time before the hare and the tortoise meet. In t hours, the hare will travel 10 t miles. In t hours, the tortoise will travel 3 t miles. Now, 10 t + 3 t = 52 So, t = 52 / 13 = 4 hours. Thus, distance traveled by hare before meeting = 10 x 4 = 40 miles 
	




	A man ate 100 bananas in five days, each day eating 6 more than the previous day. How many bananas did he eat on the first day?

		
	A.
	6  
	

	
	B.
	8  
	

	
	C.
	10 
	

	
	D.
	12 
	

	
	E.
	14 
	

	The correct answer is option [B]
	




	An adult human dentition is made up of --------- parts

		
	A.
	3  
	

	
	B.
	4  
	

	
	C.
	5 
	

	
	D.
	6 
	

	
	E.
	none of the above 
	

	The correct answer is option [B]
	




	Beige is the name of a --------------

		
	A.
	colour  
	

	
	B.
	food  
	

	
	C.
	place 
	

	
	D.
	computer 
	

	
	E.
	none of the above 
	

	The correct answer is option [A
	




	Which of the following does not belong with the others? (hint: think of how they are used)

		
	A.
	Knife  
	

	
	B.
	screw  
	

	
	C.
	nail 
	

	
	D.
	wrench 
	

	
	E.
	scythe 
	

	The correct answer is option [D] The knife and scythe are used to cut, and the nail and screw are used to pierce; the wrench is the only item that is not used to cut or pierce. 
	




	The two political parties created by the Federal Government towards 1992 transition to civil rule are ------------- and ------------

		
	A.
	NPP and NPN  
	

	
	B.
	PAP and UPN  
	

	
	C.
	SDP and UNDP 
	

	
	D.
	NRC and UPN 
	

	
	E.
	SDP and NRC 
	

	The correct answer is option [E]
	




	Dad gives you money every day to put in your new piggy bank. He gives money to you in such a way that the money in the piggy bank doubles with each passing day. If you already have 1 cent in the piggy bank and Dad gives you 1 cent the first day, 2 cents the second day, 4 cents the third day and so on, then your piggy bank gets full on the 16th day. In addition to Dad's contributions, if Mom also gave you 1 cent the first day, 2 cents the second day, 4 cents the third day and so on, then on which day would your piggy bank be about half-full?

		
	A.
	16th day  
	

	
	B.
	15th day  
	

	
	C.
	14th day 
	

	
	D.
	13th day 
	

	
	E.
	12th day 
	

	The correct answer is option [C] If both Mom and Dad contribute equal amounts to your piggy bank, then each needs to only make your piggy bank quarter-full. When both Mom and Dad contribute, the piggy bank will be half-full two days prior to the day it would be full when only Dad contributes. Thus, the piggy bank will be full on the 14th day when both Mom and Dad contribute. 
	




	There are six steps that lead from the first to the second floor. No two people can be on the same step. Mr. A is two steps below Mr. C Mr. B is a step next to Mr. D Only one step is vacant ( No one standing on that step ) Denote the first step by step 1 and second step by step 2 etc. If Mr. B was on step 1, which step could A be on?

		
	A.
	2&e only  
	

	
	B.
	3&5 only  
	

	
	C.
	3&4 only 
	

	
	D.
	4&5 only 
	

	
	E.
	2&4 only 
	

	The correct answer is option [C]
	




	Yesterday I went for a long bicycle ride around the local lakes. As the ride was quite long, I rode in various stages. In the first stage I rode half of the overall distance. Stage two saw half of the remaining distance plus 35 metres covered. Stage three covered three-quarters of the remaining distance. Stage four completed half of the remaining distance plus 75 metres. Stage five completed the journey with a final burst of 150 metres. How far did I cycle in total?

		
	A.
	7040 metres.  
	

	
	B.
	7340 metres.  
	

	
	C.
	7343 metres. 
	

	
	D.
	7340 metres. 
	

	
	E.
	7340 metres. 
	

	The correct answer is option [B] Stage 1: cycled 3670 leaving 3670 Stage 2: cycled 1870 leaving 1800 Stage 3: cycled 1350 leaving 450 Stage 4: cycled 300 leaving 150 Stage 5: cycled 150 leaving 0 
	




	Two trains move in the same direction at 50 kmph and 32 kmph respectively. A man in the slower train observes the 15 seconds elapse before the faster train completely passes by him. What is the length of the faster train?

		
	A.
	25m  
	

	
	B.
	50m  
	

	
	C.
	75m 
	

	
	D.
	100m 
	

	
	E.
	125m 
	

	The correct answer is option [C]
	




	Average cost of 5 oranges and 4 guava is 36 Naira. The average cost of 7 oranges and 8 guava is 48 Naira. Find the total cost of 24 oranges and 24 guava.

		
	A.
	1044  
	

	
	B.
	2088  
	

	
	C.
	720 
	

	
	D.
	324 
	

	
	E.
	198 
	

	The correct answer is option [B]
	




	What is the missing number? 1, 4, 9, ? 25

		
	A.
	12  
	

	
	B.
	14  
	

	
	C.
	16 
	

	
	D.
	18 
	

	
	E.
	20 
	

	The correct answer is option [C]
	




	What is the missing number? 1, 4, 9, ? 25

		
	A.
	12  
	

	
	B.
	14  
	

	
	C.
	16 
	

	
	D.
	18 
	

	
	E.
	20 
	

	The correct answer is option [C]
	




	Gen. Abubakar was a Military Head of State

		
	A.
	True  
	

	
	B.
	False  
	

	The correct answer is option [A]
	




	Gen. Abubakar was a Military Head of State

		
	A.
	True  
	

	
	B.
	False  
	

	The correct answer is option [A]
	




	The ages of a father and son add up to 66. The digits of the father's age are those of son's age reversed. How old could they be?

		
	A.
	42, 24  
	

	
	B.
	44, 22  
	

	
	C.
	45, 11 
	

	
	D.
	47, 19 
	

	
	E.
	None of the above 
	

	The correct answer is option [A]
	




	The ages of a father and son add up to 66. The digits of the father's age are those of son's age reversed. How old could they be?

		
	A.
	42, 24  
	

	
	B.
	44, 22  
	

	
	C.
	45, 11 
	

	
	D.
	47, 19 
	

	
	E.
	None of the above 
	

	The correct answer is option [A]
	




	Two cogged wheels of which one has 32 cogs and other 54 cogs, work into each other. If the latter turns 80 times in three quarters of a minute, how often does the other turn in 8 seconds?

		
	A.
	48  
	

	
	B.
	24  
	

	
	C.
	135 
	

	
	D.
	138 
	

	
	E.
	None of the above 
	

	The correct answer is option [B]
	




	Two cogged wheels of which one has 32 cogs and other 54 cogs, work into each other. If the latter turns 80 times in three quarters of a minute, how often does the other turn in 8 seconds?

		
	A.
	48  
	

	
	B.
	24  
	

	
	C.
	135 
	

	
	D.
	138 
	

	
	E.
	None of the above 
	

	The correct answer is option [B]
	




	The branch of medicine that deals with children is called pediatrics and the branch of medicine that deals with aging is called geriatrics. What is the branch of medicine called that is concerned with obesity?

		
	A.
	physiatrics  
	

	
	B.
	moriatrics  
	

	
	C.
	bariatrics 
	

	
	D.
	vuliatrics 
	

	
	E.
	paniatrics 
	

	The correct answer is option [C]
	




	The branch of medicine that deals with children is called pediatrics and the branch of medicine that deals with aging is called geriatrics. What is the branch of medicine called that is concerned with obesity?

		
	A.
	physiatrics  
	

	
	B.
	moriatrics  
	

	
	C.
	bariatrics 
	

	
	D.
	vuliatrics 
	

	
	E.
	paniatrics 
	

	The correct answer is option [C]
	




	A numismatist decides to divide his coin collection between his children. The oldest gets 1/2 of the collection, the next gets 1/4, the next gets 1/5, and the youngest gets the remaining 49 coins. How many coins are in the collection?

		
	A.
	980  
	

	
	B.
	1,080  
	

	
	C.
	1,980 
	

	
	D.
	2,000 
	

	
	E.
	None of the above 
	

	The correct answer is option [A] There are 980 coins in the collection: 490 + 245 + 196 + 49 = 980. 
	




	A numismatist decides to divide his coin collection between his children. The oldest gets 1/2 of the collection, the next gets 1/4, the next gets 1/5, and the youngest gets the remaining 49 coins. How many coins are in the collection?

		
	A.
	980  
	

	
	B.
	1,080  
	

	
	C.
	1,980 
	

	
	D.
	2,000 
	

	
	E.
	None of the above 
	

	The correct answer is option [A] There are 980 coins in the collection: 490 + 245 + 196 + 49 = 980. 
	




	Six swimmers A, B, C, D, E, F compete in a race. The outcome is as follows. i. B does not win. ii. Only two swimmers separate E & D iii. A is behind D & E iv. B is ahead of E , with one swimmer intervening v. F is ahead of D . If at the end of the race, swimmer D is disqualified by the Judges then swimmer B finishes in which place?

		
	A.
	1  
	

	
	B.
	2  
	

	
	C.
	3 
	

	
	D.
	4 
	

	
	E.
	5 
	

	The correct answer is option [B
	




	Last week I decided to cycle to my Grandmother's house. On the first day, I cycled half of the distance. On day 2, I cycled one half of the remaining distance. On day 3, I cycled three quarters of the remaining distance. On day 4, I cycled 10 miles. On day 5 I cycled two thirds of the remaining distance and on the final day I cycled the remaining 5 miles. How far is it to my Grandmother's house?

		
	A.
	475 miles.  
	

	
	B.
	450 miles.  
	

	
	C.
	425 miles. 
	

	
	D.
	400 miles. 
	

	
	E.
	375 miles. 
	

	The correct answer is option [D]
	




	Choose the correct option. 
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	Which of these would you use to make a hole in a piece of wood?

		
	A.
	plane  
	

	
	B.
	saw  
	

	
	C.
	drill 
	

	
	D.
	nail 
	

	
	E.
	hammer 
	

	The correct answer is option [C]
	




	Assume that you have just heard of a scandal and that you are the first one to know. You pass it on to 4 persons in a matter of 30 minutes. Each of these 4 persons in turn passes it to 4 other persons in the next 30 minutes and so on. Assume that no one hears it more than once and that the world population is 5.6 billion. How long will it take for everybody in the world to get to know the scandal?

		
	A.
	10 hours  
	

	
	B.
	8 hours  
	

	
	C.
	6 hours 
	

	
	D.
	4 hours 
	

	
	E.
	2 hours 
	

	The correct answer is option [B]
	




	---------- is the machine used by blind people for writing

		
	A.
	Braille  
	

	
	B.
	brail  
	

	
	C.
	Braile 
	

	
	D.
	Baille 
	

	
	E.
	None of the above 
	

	The correct answer is option [A]
General
	




	Nissi and Batubo each have a collection of cricket balls. Nissi said that if Batubo would give her 4 of his balls they would have an equal number; but, if Nissi would give Batubo 4 of her balls, Batubo would have 3 times as many balls as Nissi. How many balls does Batubo have?

		
	A.
	24  
	

	
	B.
	20  
	

	
	C.
	16 
	

	
	D.
	12 
	

	
	E.
	8 
	

	The correct answer is option [B] Batubo has 20 balls and Nissi has 12 balls. If Batubo would give Nissi 4 balls, they would have an equal number (i.e., 16 balls each). If Nissi would give Batubo 4 balls, then Batubo would have 24 balls and Nissi would have 8 balls. Thus, Batubo would have 3 times as many balls as Nissi. 
	




	A person who studies stars is called ---------------

		
	A.
	an artist  
	

	
	B.
	an astrologer  
	

	
	C.
	an ironmonger 
	

	
	D.
	a geologist 
	

	
	E.
	none of the above 
	

	The correct answer is option [B
	




	In farmer Brown's hay loft there are a number of animals, in particular crows, mice and cockroaches. Being bored one day, I decided to count the animals and found there were exactly 150 feet and 50 heads in total, and there were twice as many cockroaches as mice. How many of each animal were there?

		
	A.
	5 cockroaches, 10 mice and 35 birds  
	

	
	B.
	10 cockroaches, 35 mice and 5 birds  
	

	
	C.
	10 cockroaches, 5 mice and 35 birds 
	

	
	D.
	15 cockroaches, 5 mice and 30 birds 
	

	
	E.
	20 cockroaches, 15 mice and 15 birds 
	

	The correct answer is option [C]
	




	Which word of four letters can be added to the front of the following words to create other English words? CARD, BOX, CODE, BAG, HASTE

		
	A.
	BACK  
	

	
	B.
	PALM  
	

	
	C.
	CLAP 
	

	
	D.
	POST 
	

	
	E.
	TOSS 
	

	The correct answer is option [D] POSTcard, POSTbox, POSTcode, POSTbag, POSThaste
	




	In the queue at the local post office, there is one person standing in front of two others, there is another person standing in between two others and there is another person standing behind two others. How many people can there be?

		
	A.
	1  
	

	
	B.
	2  
	

	
	C.
	3 
	

	
	D.
	4 
	

	
	E.
	5 
	

	The correct answer is option [C]
	




	Who was the first woman to name this country Nigeria

		
	A.
	Lord Lugard  
	

	
	B.
	Flora Azikiwe  
	

	
	C.
	Lady Lugard 
	

	
	D.
	Mary Slessor 
	

	
	E.
	Florence Nightingale 
	

	The correct answer is option [C]
	




	Sound travels at ---------- feet per seconds

		
	A.
	1,310  
	

	
	B.
	1,130  
	

	
	C.
	330 
	

	
	D.
	1,030 
	

	
	E.
	none of the above 
	

	The correct answer is option [B]
	




	
Piccolo is a term used for describing something smaller than the ordinary size

		
	A.
	True  
	

	
	B.
	False  
	

	The correct answer is option [A]
	




	The Association that champions the cause of Nigerian students is ----------------

		
	A.
	NBAS  
	

	
	B.
	N.A.N.S  
	

	
	C.
	N.A.S.U 
	

	
	D.
	L.A.S.U 
	

	
	E.
	FIFA 
	

	The correct answer is option [B]
	




	Prof. Turner Isoun was the Minister for ---------- as at August 2005

		
	A.
	Power and Steel  
	

	
	B.
	Science and Technology  
	

	
	C.
	Internal Affairs 
	

	
	D.
	Education 
	

	
	E.
	none of the above 
	

	The correct answer is option [B]
	




	It's the only vegetable or fruit that is never sold frozen, canned, processed, cooked, or in any other form but fresh. What is it?

		
	A.
	cabbage  
	

	
	B.
	lettuce  
	

	
	C.
	carrot 
	

	
	D.
	peas 
	

	
	E.
	None of the above 
	

	The correct answer is option [B]
	




	If a quadrilateral is four, how many is an heptagon?

		
	A.
	1  
	

	
	B.
	3  
	

	
	C.
	5 
	

	
	D.
	7 
	

	
	E.
	9 
	

	The correct answer is option [D] A Heptagon has 7 sides.
	




	From 5 different green balls, four different blue balls and three different red balls, how many combinations of balls can be chosen taking at least one green and one blue ball?

		
	A.
	3660  
	

	
	B.
	3680  
	

	
	C.
	3700 
	

	
	D.
	3720 
	

	
	E.
	None of the above 
	




	Abuja is to Ghana as Mogadishu is to ---------

		
	A.
	Somalia  
	

	
	B.
	Togo  
	

	
	C.
	Botswana 
	

	
	D.
	Mauritus 
	

	
	E.
	Sudan 
	

	The correct answer is option [A]
	




	A 23" x 23" square metal plate needs to be fixed by a carpenter on to a wooden board. The carpenter uses nails all along the edges of the square such that there are 24 nails on each side of the square. Each nail is at the same distance from the neighboring nails. How many nails does the carpenter use?

		
	A.
	101  
	

	
	B.
	97  
	

	
	C.
	94 
	

	
	D.
	92 
	

	
	E.
	89 
	

	The correct answer is option [D] Solution: The four corners of the square have one nail each. Each side of the square now requires 22 nails (excluding the four corners). Thus, Total number of nails used = 4 + (4 x 22) = 92. 
	




	One of Mr. Horton, his wife,their son, and Mr. Horton's mother is a doctor and another is a lawyer. a)If the doctor is younger than the lawyer, then the doctor and the lawyer are not blood relatives. b)If the doctor is a woman, then the doctor and the lawyer are blood relatives. c)If the lawyer is a man, then the doctor is a man. Whose occupation you know?

		
	A.
	Mr. Horton  
	

	
	B.
	Doctor  
	

	
	C.
	Lawyer 
	

	
	D.
	Cannot be determined 
	

	
	E.
	All of the above 
	

	The correct answer is option [A]
	




	If a and b are positive integers and (a-b)/3.5 = 4/7, then

		
	A.
	b < a  
	

	
	B.
	b > a  
	

	
	C.
	b = a 
	

	
	D.
	b >= a 
	

	
	E.
	None of the above 
	

	The correct answer is option [A]
	




	How many litres of water should be added to a 30 litre mixture of milk and water containing milk and water in the ratio of 7 : 3 such that the resultant mixture has 40% water in it?

		
	A.
	7 Litres  
	

	
	B.
	10 Litre  
	

	
	C.
	5 Litres 
	

	
	D.
	6 Litres 
	

	
	E.
	None of the above 
	

	The correct answer is option [C]
	




	A rectangle is 14cm long and 10cm wide. If the length is reduced by Xcms and its width is increased also by Xcms so as to make it a square, then its area changes by :

		
	A.
	4  
	

	
	B.
	144  
	

	
	C.
	12 
	

	
	D.
	2 
	

	
	E.
	1 
	

	The correct answer is option [A]
	




	Which of the following proverb is closest in meaning to the saying, "Birds of a feather, flock together ?"

		
	A.
	"One swallow doesn't make a summer  
	

	
	B.
	"A bird in the hand is worth two in the bush."  
	

	
	C.
	"A man is known by the company he keeps." 
	

	
	D.
	"Fine feathers make fine birds." 
	

	
	E.
	"Don't judge a book by its cover." 
	

	The correct answer is option [C]
	




	The first democratic party in Nigeria was ----------

		
	A.
	National Republican Convention (NRC)  
	

	
	B.
	United Nigerian Peoples Party (UNPP)  
	

	
	C.
	Action Group (AG) 
	

	
	D.
	Nigerian Democratic Party (NDP) 
	

	
	E.
	National Party of Nigeria (NPN) 
	

	The correct answer is option [D]
	




	M.K.O Abiola died on ---------------

		
	A.
	8th August 1997  
	

	
	B.
	8th August 1998  
	

	
	C.
	7th July 1997 
	

	
	D.
	7th July 1998 
	

	
	E.
	none of the above 
	

	The correct answer is option [D]
	




	A Father, son and grandson are walking in the park. A man approaches them and asks for their age. The Father replies, "My son is as many weeks as my grandson is in days, and my grandson is as many months old as I am in years. We are all 100 years together." How old were each?

		
	A.
	Father = 65 years, Son = 30 years, Grandson = 5 years  
	

	
	B.
	Father = 70 years, Son = 25 years, Grandson = 5 years  
	

	
	C.
	Father = 68 years, Son = 22 years, Grandson = 10 years 
	

	
	D.
	Father = 60 years, Son = 35 years, Grandson = 5 years 
	

	
	E.
	Father = 60 years, Son = 25 years, Grandson = 15 years 
	

	The correct answer is option [D]
	




	Joe bought a bag of oranges on Monday, and ate a third of them. On Tuesday he ate half of the remaining oranges. On Wednesday he looked in the bag to find he only had two oranges left. How many oranges were originally in the bag?

		
	A.
	10  
	

	
	B.
	8  
	

	
	C.
	6 
	

	
	D.
	4 
	

	
	E.
	2 
	

	The correct answer is option [C] He had 6 oranges to start with, and ate 2 the first day and 2 the second day. 
	




	The area of the floor of the tank is 6 square feet, and the water in it is 9 inches deep. How much does the water rise if a 1foot metal cube is placed in it? How much further does the water rise if a second 1foot cube is also placed in the tank?

		
	A.
	1.8 inches, then another 2.2 inches.  
	

	
	B.
	1.2 inches, then another 2.8 inches.  
	

	
	C.
	2.2 inches, then another 2.2 inches. 
	

	
	D.
	1.8 inches, then another 1.8 inches. 
	

	
	E.
	2.2 inches, then another 1.8 inches. 
	

	The correct answer is option [A] 1.8 inches, then another 2.2 inches. Initially the volume of water is 6 * 9/12 = 4.5 cubic feet. The first cube effectively reduces the cross-sectional area of the tank to 5 square feet, causing the water to be 4.5/5 foot = 10.8 inches deep. Thus it rises 1.8 inches. The second cube is then placed on the floor of the tank, the cross-sectional area is 4 square feet up to a height of 1 foot, and this is filled by 4 cubic feet of water. The remaining 0.5 cubic foot, in a cross-sectional area of 6 square feet, requires a height of 0.5/6 foot = 1 inch. The water is therefore 13 inches deep and has risen by another 2.2 inches. 
	




	The monthly salaries of Kunle and Femi are in the ratio of 4:7. If each receives an increase of 25 Naira in the salary, the ratio is altered to 3: 5. Find their respective salaries.

		
	A.
	120 and 210  
	

	
	B.
	80 and 140  
	

	
	C.
	180 and 300 
	

	
	D.
	200 and 350 
	

	
	E.
	250 and 500 
	

	The correct answer is option [D]
	




	For a motorist there are three ways going from City A to City C. By way of bridge the distance is 20 miles and toll is $0.75. A tunnel between the two cities is a distance of 10 miles and toll is $1.00 for the vehicle and driver and $0.10 for each passenger. A two-lane highway without toll goes east for 30 miles to city B and then 20 miles in a northwest direction to City C. The most economical way of going from City A to City B, in terms of toll and distance is to use the

		
	A.
	bridge  
	

	
	B.
	tunnel  
	

	
	C.
	bridge or tunnel 
	

	
	D.
	toll free highway 
	

	
	E.
	bridge and highway 
	

	The correct answer is option [B]
	




	----------, -----------, and ---------- States uses the title 'Emir' for their traditional rulers

		
	A.
	Bauchi, Zaria and Ilorin  
	

	
	B.
	Sokoto, Kwara and Benue  
	

	
	C.
	Kwara, Ilorin and Borno 
	

	
	D.
	Borno, Zaria and Niger 
	

	
	E.
	none of the above 
	

	The correct answer is option [A]
	




	At the recent Cinfores Mixed National Hurdle trials, ten contestants competed for the coveted BB Shield. There were numerous judges who made sure that the results were accurate, from their notes can you determine who finished second? Ivor Bignose finished before May Eye and Mick Stup whilst Leigh Vamessage was victorious over May Eye and Laura DeLand. Jack Pott was beaten by Jerry Atric, Mick Stup and Al Beback. Laura DeLand was beaten by Mick Stup, May Eye and Ivor Bignose, whereas Joe King beat Jerry Atric and Jack Pott but lost to Laura DeLand and Inga Hootz. Leigh Vamessage was beaten by Ivor Bignose and Inga Hootz. Inga Hootz was beaten by Al Beback, who, in turn, lost to Ivor Bignose, but beat Jerry Atric and Jack Pott. May Eye finished ahead of Mick Stup and Jerry Atric, who lost to Leigh Vamessage and Inga Hootz.

		
	A.
	Ivor Bignose  
	

	
	B.
	Al Beback  
	

	
	C.
	Inga Hootz 
	

	
	D.
	Leigh Vamessage 
	

	
	E.
	May Eye 
	

	The correct answer is option [B] Their positions from first to last is as follows:Ivor Bignose, Al Beback, Inga Hootz, Leigh Vamessage, May Eye, Mick Stup, Laura DeLand, Joe King, Jerry Atric, Jack Pott
	




	-------- increased the State in Nigeria from 12 to 19

		
	A.
	Gen. Gowon  
	

	
	B.
	Gen. Ibrahim Badamasi Babangida  
	

	
	C.
	Late Murtala Muhammed 
	

	
	D.
	Gen. Muhammadu Buhari 
	

	
	E.
	none of the above 
	

	The correct answer is option [C]
	




	The traditional title 'Emir' is used in the following States except ---------------

		
	A.
	Zaria  
	

	
	B.
	Ilorin  
	

	
	C.
	Plateau 
	

	
	D.
	Kaduna 
	

	
	E.
	Bauchi 
	

	The correct answer is option [C] The title of the traditional ruler of Plateau State is the 'chief of Jos'
	




	This equation contains the numbers 1-8. Can you complete it? 6* ** x ---- 3712

		
	A.
	48 * 62  
	

	
	B.
	54 * 58  
	

	
	C.
	63 * 54 
	

	
	D.
	64 * 58 
	

	
	E.
	61 * 58 
	

	The correct answer is option [D] 
	




	James and Steve were busily emptying their book shelves from one room to another. James on his own could have cleared the room in 18 hours. Steve also would take 18 hours. Unfortunately, John was moving the books back into the first room from the second. He could fill the first room in 36 hours. How long will it take the three of them to complete the task?

		
	A.
	24  
	

	
	B.
	18  
	

	
	C.
	16 
	

	
	D.
	12 
	

	
	E.
	8 
	

	The correct answer is option [D]
	




	During the recent Buckles cipher convention, a binary code contest took place. The contest consisted of a binary code transmission where the spaces between the letters were missing and there was no punctuation. Each letter of the alphabet was translated into its binary equivalent based on its position in the alphabet, a=1, b=10, c=11, d=100, e=101, f=110, g=111, h=1000, i=1001, j=1010, k=1011, l=1100, m=1101, n=1110, o=1111, p=10000, q=10001, r=10010, s=10011, t=10100, u=10101, v=10110, w=10111, x=11000, y=11001, z=11010. Which country does the code 101111110010110011 represent?

		
	A.
	West Malaysia  
	

	
	B.
	West Germany  
	

	
	C.
	West Indies 
	

	
	D.
	Washington 
	

	
	E.
	Wales 
	

	The correct answer is option [E]
	




	An inter-agency task force has representatives from 3 different agencies. Half of the task force members represent agency A, one-third represent agency B and three represent agency C. How many people are on the task force?

		
	A.
	12  
	

	
	B.
	30  
	

	
	C.
	24 
	

	
	D.
	18 
	

	
	E.
	15 
	

	The correct answer is option [D]
	




	The N.Y.S.C scheme was launched by -----------

		
	A.
	Olusegun Obasanjo  
	

	
	B.
	Alhaji .L. Ande  
	

	
	C.
	Dr. Nnamdi Azikiwe 
	

	
	D.
	Gen. Yakubu Gowon 
	

	
	E.
	Chief Sam Mbakwe 
	

	The correct answer is option [D]
	




	I once cashed a cheque at the bank. I had spent N4.49 before I realised the bank clerk had made a mistake. He had transposed the Naira with the Kobo. I now had exactly 5 times the value of the original cheque. What was the original cheque's value?

		
	A.
	N9.98  
	

	
	B.
	N52.9  
	

	
	C.
	N9.52 
	

	
	D.
	N25.9 
	

	
	E.
	N9.25 
	

	The correct answer is option [C]
	




	If August 31 2007 fell on a Friday, on what day will it fall on August 31 2008?

		
	A.
	Wednesday  
	

	
	B.
	Thursday  
	

	
	C.
	Friday 
	

	
	D.
	Saturday 
	

	
	E.
	Sunday 
	

	The correct answer is option [E]
	




	f you overtake the last person, then you arrive...?

		
	A.
	second to the last  
	

	
	B.
	last  
	

	
	C.
	third to the last 
	

	
	D.
	first 
	

	
	E.
	None of the above 
	

	The correct answer is option [E] You can't overtake the last person.
	




	100 of 100
	A farmer has 17 sheep, and all but 9 die. How many are left?

		
	A.
	17  
	

	
	B.
	9  
	

	
	C.
	8 
	

	
	D.
	0 
	

	
	E.
	None of the above 
	

	The correct answer is option [B]
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